1. o=

o
o

A2 ALgst Ao e U, A, B, C © & 747 Tl

4 710l 50 491 72 a 9] @+ (50 x 4) 9
a7, b A% 5 T2 AH] Bt {(a+b) + B} A

C
0% < 438 rg Soll ol At T F: (o xa) g

— AR




e % 715 x, = = Aekete] e

@® (-0.1) xbx a=—0.1ab

7x+y

@ (+y)+ (-3 = -

®x+yxz:%
Y

@ 4xax(-2)xyxz=—8z%

@a+(3xb):%b




7120l x°C & ), £2)9] &I (y) £y = 320 + 0.62(m/Z) ©]c}, 7]
20°C 9 1), 4]0 ZE?

@ 330(m/s) @ 331(m/s) ® 332(m/s)
@ 333(m/s) ® 334(m/s)






S 48 71T x, + & Aeksto] tehyojat,
axXxa+b+T7+3bc—2axa



28 B2 A}85F A0 2 Lehyojal,

a9

S A9 2 A4S AL 500 4L VLS T

@ (500 —2a) ¥ ® (1000 —a) Y

® (500 + 2a) ¥




7.

r=-2y=4%4 M, —2? -y o] T2

®© -12 @ —4 ®0



